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1. Read this text and answer the guestions.
Look! There are nine dinosaurs in this picture. There

is a mummy dinosaur and she is very happy
1 because she has got three new babies.

There are two Brachiosaurus, can you see them®@
They have got a long neck and they can eat the
leaves from the top of the trees. Look, they are
» eating! They like eating plants.

! There is a Pterodactyl, it is flying in the sky. It is

purple and orange!

One dinosaur is angry and it is running. It's a T-Rex!

Be carefull

1) How many dinosaurs are there?

2) There are three baby dinosaurs. YES NO

3) Why can the Brachiosaurs eat the top of the trees?

4) Do Brachiosaurs like eating meat?

5) What is the T-Rex doing?

2. Complete with the words in the box. There is an extra word.

EATING THERE BEHIND HAS BECAUSE BETWEEEN

This Brachiosaur is brown and it got dark
brown spots. It has got a long neck and a long tail. It is
because it likes eating that tree.

There are two volcanoes the Brachiosaur.
Look! Smoke is coming out from the volcanoes. It is a sunny
day.
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is a Pterodactyl, too. This dinosaur can fly
it has got wings. Look! It is flying in the sky. This Pterodactyl isn’t
purple, it is green and orange.

The extra word is




